Fig 2 Likert scale ratings: Question 2, all scenarios (1-12; top to bottom)

How important is it to you that all infants are tested for the following
disorders at birth?

The child can receive an intervention/treatment in the form of

a special diet and will grow up with nommal physical and

=

mental abilities

The child cannot receive any intervention/treatment until signs
of the disorder appear

The child's family will know of the diagnosis much sooner, but
intervention/treatment cannot begin until signs of the disorder
appear.

The child can receive an intervention/treatment in the form of
education that will help with his or her mental abilities later in
life.

The child’s parents could find out that future children have an
increased chance of also having the disorder.

The child’s parents would know that they themselves are at an

increased chance of developing the disorder. Individuals with

this disorder do not show signs of the disorder until their adult
years.

The child may be able to receive an intervention/treatment in
the form of additional help from the state. This help may
include, for example, monetary disability benefits or other

supportive services.

The child can be enrolled in a research study for experimental
medication. There is no guarantee that individuals in the study
will be saved by the experimental medication, but other
affected individuals in the future may be saved.

The child can receive a risky intervention/treatment with the
potential to add 6 months to the child's life. Most of this time
will be spent in and out of the hospital.

The child can receive a risky intervention/ireatment with the
potential to add 3 years to the child’s life. Most of this time will
be spent in and out of the hospital.

improve the child’s physical abilities. The disorder’s impact on
the child’s mental abilities cannot be reversed.

The child can receive an intervention/treatment that wil
improve the child's mental abilities. The disorder’s impact on
the child’s physical abilities cannot be reversed.

The child can receive an intervention/treatment that will —
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